Base15 V1.1

SKU:K025-B

MS5STACK

DIN-RAIL

\\\ M3x28mm
-._\x,_.;{:}..
\t.\.‘ Ih.:}\

M3x8mm  XH20x4P N\

INPUT o
Y, &
7 M3x22mm M2x5mm W M3x30mm
0® ’
M3Nut & o
Hex Key & »

| Description

Base15 V1.1 is a "5x5cm system” universal functional base, the thickness of the product is 15mm
(excluding the busbar pin header), including 9~24V to 5V DCDC circuit and 2 custom Grove
expansion ports, as well as the PCB center 2.54mm spacing hole board area, users can
independently add circuit functions. A variety of fixing methods are reserved in the structure,
supporting DIN rail, wall mounting, screw fixing, and bottom M12 connector fixing. This product
Is mainly used for customers to customize the function base. (Customers can contact the official

deep customization)

| Features

o Built-in 9-24V to 5V DCDC circuit

o Rails, wall mounting, screws and M12 fastening
o 2.54MM HOLE PLATE

o Includes 2 Grove expansion ports

o Custom add circuits

| Includes

o 1x Base15 V1.1 Proto Board
o 1x Base15 V1.1 base case

o 2x HY2.0-4P terminal


https://shop.m5stack.com/products/base15-proto-industrial-board-module-v1-1

o 1x 1.5mm hex key
o 1x 2.0mm hex key

o Tx 2.5mm hex key

o Tx 35mm silver metal rall

o 1x 35mm black rail clip

o 2x M3*8mm screws (countersunk head, mechanical teeth)
o 2X M3*22mm screws (cup head, mechanical teeth)

o 2x M3*25mm screws (cup head, mechanical teeth)

o 2X M3*28mm screws (cup head, mechanical teeth)

o 2x M3*30mm screws (cup head, mechanical teeth)
o 4x M2*5mm screws (cup head, self-tapping)
o 2x M3 nuts (with anti-skid rubber ring)

o 1x product sticker

| Applications

o DIY as needed functions

| Specification

Resources Parameters

DC-DC Convertor chip MP1584
Wide Input Range 9-24V
Continuous Output Current 2A
Output Voltage 5V
Product Size 54mm x 54mm x 28mm
Package Size 105mm x 65mm x 40mm
Product Weight 27.1¢g
Package Weight 133.7¢

i g L
."J il
o il
o -
I 5 P
ik b
i Uy
- | Y
9 b i
LY X
. b
-
.y i % i
“
= ) (d ' ] e |

L o Ge@®le

. see® E- 3
I IOICICICICICCE - <3
POewewwewewweee N
I ICICIONCE - -3




| Related Link

o MP1584

| Schematic

Cl 131
H - I‘ =|I-t'jHL1-
1 F G5 84
- L1
. | E ?r ; RST 1|'-dr=|5.i:-|Er-4 - +%=
O 1—F—7F - VIN SW - T » » »
PPIC-1812 10uH
——5 ——(% — 1 % ——(d
i 23uF | 22uF 2 | o rp |4 Bl 22uF | 220F | 2F
— — Ko} — —
GND GND  GND GND GND  GND
b FEECH COMP 3 0Ex2
GMD
3 | =
LD GHD
==7
= | 50pF
= GND
GND
IR
GND

P3 13
1 ; RX
2 = TX
3 = veC
4 GND
eader 4 TV
P 14
1 +— HC_SCL
2 —— 1IC_SDA
1 2 VCT
4 GND
Header 4 Cirove_1IC
05
I_'jHLl-'|” — H [+5W
-I-!F.h p;.-
£L4T 0603
Pl
— B
—_—l
— 1av+
— 17w
R4
i1
+ GND GPIOAS E—H%%
- GND GPIO36 = tfH
- GND EM -
GPILES 7 | GPIO GPIO2S 5 GPles
l:jl’ll]'l‘il i GRS GPIO2E 1} GlPI{24
—p —oEre—— GPIOIS FIIV {433V
il LY Ll 1 GPIOH GPIOH 14 LalPl LKl
GPIOIA 15 d[’lﬁ‘lﬁ GPIO1T & GPIO Y
—Cpree | GMO21 GRIO2 |
GPIO12 21 [@Ell:ﬁz fg[l:ll;.ﬁ ) Gl 3
ljl’llllg E d?lﬂ‘lﬁ GPIOO Lilld
[N+ 23.; HFWE GPIO3 g GPICEA
HPWR Tl = L
HFWR  BATTERY BAT

M35iack_BLS


https://m5stack.oss-cn-shenzhen.aliyuncs.com/resource/docs/datasheet/module/Base26-B/MP1584.pdf

